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6. FEEOEASEMEE (1)30(2)40(3)45(4) 48

7. BRBIRGHRMEE (1) 5.42 (2) 6.74 (3) 7.29 (4) 8.66

8. AMIBRIARGGMIES p, i 200 AT, 120 AREK, Rl pBY ISREFREMR 60% £ E,
B[S Z R E 2547 (1) 3.46% (2) 4.88% (3) 6.79% (4) 7.33%

0. 3K _FEH MBEE p=60%, {2/ 7KH¥E 95% » BEFLR E BISHIAE 3%, MR A7 (1) 1067 (2) 1024
(3) 896 (4) 683

10. THIRGR (a) AN BERNEYENTAMREH N O/RFBREESHRRABI T REET
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12. FHIRER(a)3S HO: BHR™E Hi: Rk, RIMRKEERS Type I error. (b) BFF/K¥ER Typel
error B4 ORI R (c) BB kA, BARER HO Q)P-ERA, BASEEH0, L
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13, #REME HO: u=50vs. HI: u#50, FTFIEE T, B—REWERELEE? () p=50Q)u=
51 (3)p =46 (=153

14, EEMTE HO: p=50vs. Hl: p> 50, TFIMH T, S—BEEMEIZSR? (1) p=50()p=
51 =52 (Au=>53
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ANOVA Table |
Source ~S8S. DFE _MS F P

Treatment a 4 20 e f

Error 100 ¢ d& 0000 O
Total b 29
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16. THgkR(a)a=80 (b) b=180 (c)F—EH 6 HiEA. () BAEANESHA BREZE 20, DA LR
LGRE (1) ab (2) abe (3) bd (4) abed

17. B4 BEEFE F(4,25,0.05) 2.76, F(4,25,0.025)% 3.35, F(4,25,0.01 )& 4.18, () P-{Exjxﬁ" 0.05
(b) P-{E/NFR 0.025 (c) REZE/KHE SYRFEM HO (d) REHZKHE 1 %RHEM HO, L EIERERIRGLE (1)
ab (2) be (3) abc (4) abed
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Source df SS MS F
Regression 1 SSR MSR F
Error 25 SSE MSE

Total 26 SST

20, DUB/INPHEEHAS B B (1)0.24 (2)-0.24 (3)1.5 (4)-1.5

21. DUB/INE FEEHAY o & (1)188 (2)212 (3)125 (4)275
22. SST=7 (1)10400 (2)10800 (3)9800 (4)9400 |
23. SSR=? (1)3744 (2)3888 (3)3528 (4)3384 -

24.F=2 (1)12.5 (2)13.8 (3)14.06 (4)16.9

25. B HO: A=0vs. Hl: B+#0 K¢ ¢ {HFR(1)-3.87 (2)4.11 (3)3.71 (4)-3.75

ATHR (50%)
1. Find the expected number ( the mean value, £ ) of chemists on a committee of size three selected at
random from 4 chemists and 3 biologists. (20%)
2. Given a random variable X has the probability density f(x) = 2(1-x) for 0 <x <]
and f{x) = 0 elsewhere. Find the mean and variance of X. (5% and 10%,
respectively)
3. If the random variables X, Y, and Z have the means px =2, pu, = - 3, and p,; =4,

the variances 6> x =1, 6* y =5, ando? z = 2, and the covariances cov(x, y) = -2,

cov(X, Z) = -1, cov(Y, Z) = 1, find the mean and variance of W =3X -~ Y + 2Z,

(5% and 10%, respectively)




